(A1 —1)

KETFRERMIKTEB GRS M SEEHEE @BER)

EE . Sfn b F£E

s . Dt E H5< ) EITREES

(Bf7 : [H)
£xn5  |3F AT RERR | WIS | BB TN
7 OB - BRIcET AEE| 1 |SKEISIIGE 400, 000 400, 000 350, 000
2 |FETH— 7k 60, 000 60, 000 60, 000
A ZEL-BFOE-HEE| 3 |IERREERBELS I ARy b 50, 000 50, 000 50, 000
B A HEE 4 |FRHERX BRI (VRN 80, 000 80, 000 80, 000
5 |PEEHEEX PR (RIEHgLH) 80, 000 80, 000 80, 000
14 |5 A {k# 100, 000 100, 000 100, 000
6 |[Sivd\ K 310, 000 310, 000 205, 000
T fRfk - fEEE - BREE | 7 |49l WES 600, 000 500, 000 300, 000
IR 5 EE 8 |nEWVERMEE 116, 000 116, 000 116, 000
9 |HTZHBI% < 9 5&EHE) 10, 000 10, 000 10, 000
10 |E#EREY—EX 624, 200 624, 200 419, 600
11 |/ s 57 50, 000 50, 000 50, 000
= Xk - AB—Y 12 /s s 60, 000 60, 000 30, 000
BT 5EHE 13 [kt —= V&R ke 200, 000 200, 000 100, 000
* FofMmoOEE
EE T gt ——— | 2,740,200] 2,640,200 1,950, 600
e \ 500, 000 500, 000 500, 000

MREER I RA X HEE T



(B#E2—1)
KRR RERMSES RSN EFERNITEE (BER)

FEFE S b5 £F His4 . DSl H5< ) ETEES
o o (7 - [)
A H
D+ 3, 240, 200 @+ D+®) 3, 240, 200
(I A)
" B & % M A N &
EBVE B4 (a) + (b) 1,950, 600 |KFRATRERHIRIEEHESMEE FEE)
EEEMEE 500, 000 |XBRTHAEXHUSIESI S04 GEER)
FEIIA 339,600 | (B#&2-2) (BI#%2-3) &M
i A H 4 350,000 | (Bf&2-2) (RI#k2-3) &M
HEIUN 0 | (BkKk2-2) (B#K2-3) =M
AR A& 0 | (Bk2-2) (Bl#k2-3) &R
& #H-O 3, 140, 200
FOMOIIA—@ 100, 000
(X )
<JREHE >
- L e |
4 AN A 7Ty
I S M | mErs ) g trnd RERHL
1B T2 85 (b)
WEE 10, 000 10, 000 0
BEE 242, 440 242, 440 0
Eieet 130, 000 0 0 linxTEESER
BEhe |[EREAS 64, 600 64, 600 o | GU2-2)
X R (|\BREMGE 454, 000 384, 000 0
F DR 1,739,160 |1, 147, 390 102, 170
HEhERBE A3 —0 | 2,640,200 |1, 848, 430 102, 170
FOMOZH—@ 100, 000
<EEE>
EEE -G 500, 000 500, 000 (Bl#%2-3) SR
= = Ny La 1N
FORDS P IRERI DT 1y 5% | (R 2 (U FH 0 #0)




